Algebra 1: Semester 2 Written Final Review 2019
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L. A contractor adds a wrap-around porch to a square house on two sides. The area of the house
after the addition is represented by A = (30 +x)?. Use this expression to answer the following

questions. A= '(U . by H @,ﬂb)(){v“i’\ox

a. What is the area of the house after the expansion? (2 pts) XV 439 £+ W 49
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b. Find the area of the house and porch when x = 10. (1 pt)
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2. At a Civil War reenactment, a cannonball is fired into the air. The release point is 6 feet
\1038\ above the ground. The function 1 = =162 + 1281 + 6 represents the height 4 (in feet) of the

cannonball after 7 seconds.
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a. What is the mTlmum heloht of the cannonball? When will it reach that height?
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b. After how many seconds will the cannonball reach the grount
nearest tenth 1fnecessa1y (2pts) q= - ~ 44+ )/6_‘/?’7 f-
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3. Write a functlon that represer 1t5 each situation: use the function to sol\;e for the value after 5 ~/{
years have passed. Round to the nearest cent if necessary.
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a. A house purchased for $175,000 increases in value by 3% every year. (2 pts)

Function: _ﬂ ( X) A ( + )’Xb
Viﬁe(jcf)lmu;;a;%:oy?; s = $20%,6719(

b. A used care puxchased for $6599 decreases in value by 12% every year. (2 pts)

Function: #(X) A (/ Fj'b

Value of car after 5 years:

£ = s (-0 = fd 379250



4. The polynomial A = X7 —22x + 121 represents the area (in square feet) of a square
playeround.

a. Iind the area when x = 30 feet. (1 pt) ,PD
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b. Given.4 — s, write a polynomial that represents the side length of the
playground. (1 pt)
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¢.  Write an expression for the perimeter of the playground. (1 pt)

d. Find the perimeter when x = 30 feet. (1 pt)
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5. Use the provided data set to answer the following questions.
Height of 18-year old adults (in.): gé,yf, 64, 65, 69, 1. 73.
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a. Find the mean, median, mode, and Standard Deviation

range of the data set. (2 pts) X x xX—X (x —x)*
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b. Find the standard deviation of the data 7 ) LQ 9 11 } Ié . 6) |
set. Round to the nearest thousandths B -
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